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Questions
1. Which is easier for turning a stuck screw, a screwdriver (handle) with a large diameter or one with a long handle? 

2.  Can a small force exert a greater torque than a larger force?  Explain.

3.  Some doors have a doorknob in the center rather than close to the edge.  Do these doors require more or less force to produce the same torque as a standard door of the same width and mass?

Problems

1.  A mechanic is applying 30 N of force to a wrench.  If the force is applied perpendicular to the wrench at a distance of .45 m from a bolt being loosened, what is the torque that is being applied?

2.  The same mechanic needs to apply a torque of 45 Nm to properly tighten a different bolt.  What force perpendicular must the mechanic apply at a distance of .53 m from the pivot point of the bolt?
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3.  A 1.5 m long fishing pole extended perfectly horizontal has a line dropping down from it at an angle of 30( to the vertical.  If the fish applies a tension of 28 N to the line, what torque is applied if the person holding the pole holds it .1 m from the other end? (neglect the mass of the pole)  






4.  A boy and girl each sits on opposite sides of a seesaw.  The boy has a mass of 60 kg and sits 1.8 m from the axis of rotation.  The girl on the other end sits at 2.3 m from axis with a mass of 35 kg.  Where should a third person with a mass of 45 kg sit so that the seesaw is balanced (net torque is zero)?  (assume no frictional torques are in action)
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